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a) Cold oceanic current of Peru coast
b) Warm wind current in Pacific Ocean
c) Warm oceanic current of Peru coast
d) Cold wind current in Atlantic Ocean

T A mos

ITCZ is formed whef ___winds come together
""""" Trade winds.

b) NW trade % W Trade winds.

c) NE trade winds & S/W Trade winds.

d) None of the above.

ITCZ TaR suarsar fsemot o o Tehs Aam?
a) M AU X F 3 AR G

b) S WMN IR T Hed AU G

¢) S AWR R T THRE AWH an
d) shota @t e

Consider the following statements:
1) Bhangar represents alluvial deposits in the riveine tracts to the f %
alluvral are renewed every year durmg ﬂoods

d plains of
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2) Rivers coming from the Himalayas generally disappear in the Bhabhar zone
and reappear in the Tarai region.

Which of the statements given above is / are correct?

a) 1 Only b) 2 Only

c) Both 1 and 2 : d) Neither 1 nor 2
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- a) Wwed } b) wed R ,
c) R Imw 3 I

4. With regard to agro forestry. Consider the fok ing%tabements:

' 1) Itis aland use system involving tress co
the same unit of land. -

2) Agro forestry practice increases far: fier
productivity of croplands.

3) Growing tea or coffee under gfe

Which of the statements gite

gependency on forests and

""-‘ es of tree is form of agro forestry.
e is / are correct?

a) 2 Only £ b) 1and 2 Only
c) 1 and 3 Only (Y st d)1,2and3
TR el @ Sie f 1o B
S R) HIE 3R Wwﬁﬁﬁﬁéwwmmaﬂ%

3)%@1%@%@%%33%%3@
a) Wad ¢ b) wam ¢ emfuor 2
C) e { ST 3 d ¢, R emfr 3

5. Consider the following statements:

1) Tropic of Capricorn passes through Chile, Argentina, Uruguay and Brazil.
2) The capital of Uruguay is Asuncion and it is situated on the western coast of
South America
a) 1 Only b) 2 Only
- ¢)Both1and2 d) Neither 1 nor 2
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Tee aeEEn fTER w® o
¢) wEEw fae, oSife, o oNfUr Wi AT W .
) vEEt WUt srfwelm ey onfr W fur smfenen ufeerw feRr-wmew

feor 3.
a) W { b) W R
¢) A d) = .
6.  Which of the following statements are correct about “Sanyukta Maharashtra

Movement”?

1) It strongly opposed State Reorganization Committee4
2) It opposed Bombay as Separate, centrally adminis
3) C. D. Deshmukh resigned as Cabinet Miniser f¢
4) Around 105 people killed in violence ~ §
a) 3,4

c) All of the above

Consider the following statements in regards to ‘Swadeshi Movemennt’
1) The movement had its genesis in the anti

British decision of partition Bengal.
2) The movement did not witness any partici
population in the politics.

3) The movement was confined to the re
outreach other regions of the country,
Which of the statements given above is

partition movement against the
pation from women and rural

glon of Bengal only and failed to

/ are correct?
- a)lonly b) 1 and 2 only
- €)2and 3 only | d)1,2and 3
3|Page L ST
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) T PR geerd fwdsear sWe wievtear fier  fawem drom-an
) T ST W fermiar nfor miTer SYheT TSRRUTT WEWTT  FTegl.

3) ¥ RO We SOURAuE WAlgd Uee MU Q@WeAT I WRI  TERuE
JEY .
a) Had ¢ b)sds ¢ 3mfor

)@@ 3 onfw 3 d) % R smw 3

8. Who founded “Independent Labour Party?

a) Mahatma Phule b) Dr.
c) R. D. Karve d) Dye¥
a) WETHT TS

C) T &f. =

9. Who gave the simile of tw% eye
Muslims?

a) Jawaharlal Nehru b) Muhammad Igbal

c) Syyed Ahmed kh ( p o d) Mahatma Gandhi
g TR (W) 9 I oEht sumr wioh fre?
a) ST & b) WEWT s

) 9=Q 3@he © d) WErET et

10. Who founded “Arya Mahila Samaj” in Pune?
a) Savitribai Phule

b) Pandita Ramabaj
c) Iravati Karve

‘ d) Anutai Wagh
o Ay “ord ufeer W= T hioit est?
a) wieefars oS b) dfemr varams
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1) Some of them, such as cherishing noble ideals of freedom struggle, are moral
precepts and others, such as to respect the constitution, are civil duties.

2) They are confined to citizens only and none of them extend to foreigners.

3) There is not legal sanction against their violation.

a) 1 only b) 1 and 2 only

c) 2 and 3 only d)1,2 and 3

R) W™ wE, T UL AQST@T T UI-a7 oo G T YA
0, v Frem oMy onfr TEY W@ WU WA @O, MM wder
3.

R) O wEd ARMshivdes Waifed oM onfor ¥ fadzt St wr @@ .
3}) WY IO BT BIUAE HE e mﬁr

Tous wu faam slEr e/ smea?
a) Whad ¢

C) e R T 3

12, Consider the following statements : |
1) The fundamental Duties were addes

2) Fundamental Duties areta

3) Keshavanand Bharati cate% eals with the Fundamental Duties.

Which of the statemery above is / are correct?

a)1and?2 b) 2and 3

cjland3 (™ ° d) Only 3

%) @i fig it ReRE{er qoqd wdeaiaT aoes SRR o
STl

R) UPYA el Hed WRAE AR O] .
3) SPEFE W S enm wEeih weRm ey
FhoUdl iU faum SRER 3TRd?

a) ¢ amfor % ' b) ? emfr 3
c) ¢ 3mfur 3 d) wem 3

13.  Consider the following statements

1) The Preamble of Indian Constitution is the part of Indian Constitution and can
_be amended under article 368,
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2) The Preamble of Indian Constitution is not the part of Indian Constitution and

cannot be amended |
3) The Preamble is the part of Constitution and can be amended only if no
change is brought about in the basic structure of the Constitution.

Which of the statements given above is / are correct?

a) Only 1 b) 1and 2

c) Only 3 d)1and3

Wo® fqu sard =

%) VR WiGuATel SEIUGER ¥ GfeTT W 3gH AiHed 384 AT

HOATTAR GOl Sl Ad.
R) WRdE Wl sgeEnube Wieumrer wm T enfor wmHed gee htan

14.  The Chairman of the Union Puhjif Sty
a) Six years o £
b) During the pleasure of {18
c) For six years or till gfftpat
d) For five yeas ;,,,.;:ﬂ:. ,

agfage of 62 years, whichever is earlier.

Feren i wees -

b) wegudet Wet s@uHw
c) W&T O fHar Tt sy al, W omet oW™w qr
d) urer a§ foar sami &3 o¥, ¥ omi o@® wr

15.  What is the main jurisdiction of the High Court?
1) Original jurisdiction
2) Appellate jurisdiction
3) Supervisory jurisdiction
4) Advisory jurisdiction
a)l1,2,3,4 b) 2, 3,4

d) 1,24
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Iod TETGATET WOIGUd! hIEl T AfRR Hgl 3 ?
) H IferehtiEr

) s fremiar

3) wHagia el

¥ ) Woonmt ST

a) %, %, 3, ¥ b) 7, 3, ¥

)% R 3 d ¢ ® ¥

16. Withregard to Hydrogen Peroxide (H202) consider the following statements
1) Itis absorbed by skin upon contact and results in temporary whitening of the
skin.
2) Asthma suffers have lower levels of hydrogen perox' £
healthy people. f
Which of the above statements is / are correct”
a) 1 only bnly
c) Both 1 and 2
A WeEgs  (H202) dewia GGG :
) TASAT WUk MeATEET ¥ mﬁa@aﬁm%ﬂw
R ) <Tur (Asthma)
T THIET qoqd d

o their lungs than

a) 3@ 2 A A b) @ <
c) <r&r d) =R T

17.  Plants are killed in winter by frost because
a) Of desiccation and mechanical damage to the tissues.
b) No photosynthesis take place at such low temperature,
c) Respiration ceases at such low temperature. '
d) There is no transpiration.

JEq Mehedl NS Tl HIATd eI

a) Udid THA F GHeAHo

b) Taear FH! AUNTTG THERT TWHUT BRAT B AEr WA
c)qawaﬁamuﬁmmﬁ?mw

d) sm I9 &

7 l Page
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18. Which of the following states is a pioneer in wind energy generation in India?
a) Gujarat b) Maharashtra
¢) Odisha d) Tamil Nadu

ARAWE ToTeel &Od WISIousl sRel T Shivd ?

a) e b) WERISE
c) 3nfewr d) diHeTg
19.  Which of the following hormones is odd?
a) Glucocortiocoid b) Progesteron
c) Testosteron d) Insulin
WOl IR W0 foeTa  aTed?
a) THhIhICIhIZS
C) TEIRIH
20.  Which of the following states is first to ]
a) Delhi
c) Goa ) Gujarat
F-TTEHE HAUIH GE 8 kS T Wi ?
a) faeot b) wERTeE
c) i d) T

Question No. 21 to 80 are not given here since questions follow the

same pattern. The gap is given in order to communicate that there
will be in all 90 questions in the online examination.

81.  Which is not a west flowing river?
a) Ulhas

b) Waitarna
c) Kundalika d) None of above
WU T ufvew At A
a) I b) S
c) et d) o™ W@ ArE
82,  Which of the followmg persons has been recently appointed as the Governor of
Manipur state?
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83.

84.

85.

86.

87.

a) Ram Naik

c) Kesharnath Tripathi d) D. Y. Patil
EEGta FTE [HAE TR TS U FHUE HoA At ME?

a) T TEH

c) ey d) <t o= e

“B. S. Basawan Committee” is related with which field?

a) UPSC Exam Pattern
c) Banking Sector reform

“SY. TH. T HHEl” HIRN e 3T ?

a) U oden weedt
€) R &ETd WO d @@ T

Committee of the Indian Constitution?
a) Dr. K. M. Munshi

c¢) N. Gopalswami Ayyangar
WOIGUhl IR el WA

a) Si. & T, oI
¢) WA Tt

Baking Soda is known as :
a) Sodium Bicarbonat§ p

b) V. Sahnmuganathan

b) & T YA

b) Foreign Direct Investment
d) Inclusive Growth Policy

b) %= WHE TAEU

b) Sodium Carbonate

c) Calcium Carbong d) Calcium Chloride

QUaTET |ie -

a) WEER S b) dEm wETE

) wfREu wEiE d) wfwem FTBNES

Minimum how many meetings of Gram Sabha must be held in a Financial Year in
Maharashtra? .

a) 4 b) 5 c) 6 d) 2

TERTEE Uenl fatva ouid amewen feae faet Sowt Y01 steMeien e ?

a) ¥

The River Koyna joins the river Krishna at
a) Satara

b) 4 c) & d) »

b) Kolhapur c) Karad  d) Mahabaleshwar

mmaﬁ'ﬂmﬂiﬁwﬂa’mﬁwﬁaﬁ?
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a) A b) K@Y c¢) wWE d) WEERS

88. Mountain soil is known as

a) Black cotton soil | b) Unmatured soil
c) Peat soil d) Alkali soil
PCrie ik Co: SN Tl RUMA MeEe W
a) hI SRTAHETT b) Imuftusa
) We d) IRt
89. e district of Maharashtra is largest according to thé area,

a) Pune b) Ahmednagar  c) Nagpur d) Yavatm
TENTSETd SFhedel Eaid Wit fqe@m o, '

a) g b) IMEUSTTR c) WY

'90.  Which of the following is mostly utilized

a) Sandal  b) Teak d) Mango

d) st
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